
C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 1 OF 8SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



 3965 

 3
11

5 

 1
15

 
 965 

 R1500  R1
50

0 
 R1500 

 R
15

00
 

 1500  1500 

 1
50

0 
 1

50
0 

Safety area

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 2 OF 8SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



 850 

 3
11

5 

 3965 

Foundation

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 3 OF 8SCALE: 1:40

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



 3
00

 

 5
0 

 6
00

  3
00

 

 1
10

8 

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 4 OF 8SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



1 2

1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 Post 98x98x1050 laminated wood 2
2 Flyer panel HDPE plastic 1

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 5 OF 8SCALE: 1:20

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



1

1111 In the 
aluminum post 
version, these 
screws are 
6x60 

2

3

10987
55

66

4

444

ITEM 
NO. PART NUMBER DESCRIPTION

1 plastic cap 
115x115 PE plastic

2 post laminated wood
3 ground fixture steel

4
Post 
additional 
plastic

HDPE plastic

5 bolt DIN603 
M10x110 galvanized steel

6 bolt DIN603 
M10x120 galvanized steel

7 nut cover M12 PE plastic

8 Washer M10 
DIN9054 Washer M10

9 nut DIN985 
M10 galvanized steel

10 nut cover cap 
M12 PE plastic

11 Woodscrew 6 
x 90 galvanized steel

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 6 OF 8SCALE: 1:7

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



3
4

5
6

34
5

6

3 4
5 6

12

7

2 1

7

post

panel

The panel must be attached to the 
outer edge of the post !!!

connecting panel to post

ITEM NO. PART NUMBER
1 bolt DIN603 M10x100
2 bolt DIN603 M10x35
3 nut cover M12
4 Washer M10 DIN9054
5 nut DIN985 M10
6 nut cover cap M12
7 Corner 90° (45x60)

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 7 OF 8SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326



Inside

Panel

Post

Platform

 7
0m

m
 

 8
5m

m
 

 1
00

m
m

 

 5
00

m
m

 

connecting panel to post

Outside

The panel must be installed on the post as 
shown in the picture!

Explanation of the `lower hole` behind 
the panel name:

C

2 31 4

B

A

D

E

F

AW01

22.12.2020I.Agar

WEIGHT: 

A4
SHEET 8 OF 8SCALE: 1:10

DESCRIPTION:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Activity wall Flyer

Artikelnummer: 7326


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet6
	Drawing View5

	Sheet4
	Drawing View4

	Sheet7(2)(2)
	Drawing View6
	Drawing View7
	Drawing View8

	Sheet1(2)
	Drawing View9

	Sheet2(2)
	Drawing View10
	Drawing View11


